0 3.5.1 LeRplE TR~ FREL (3 fhw) (1/2)

B 7 p ¥ T 1i# 5 1% A& 250 Hz# & 1128 & 2 158
2% 8/19 SUE 213 5/19 814 /10
s EY R ppay 0.1 0.00658 | 0.00020 | 0.00020 | 0.00091 0.00197 0. 00020 XD 0.00020 | 0.00019 0. 00015
s E RO A ppay - - 0. 00020 XD 0. 00010 0.00021 XD 0.00021 | 0.00020 0. 00016
2§ R ppay - - 0.00019 XD 0. 00010 0. 00020 XD 0.00020 | 0.00019 0. 00015
4y T ppn 1 0. 0054 0.0094 | 0.0258 0.0138 T.706-03 | 3.108-02 | 1.50E-02 | 5.50E-02 |  2.72E-02
FF T (o ) ppn - - 0.00640 | 0.00640 0. 00640 6.55E-03 | 6.58E-03 | 6.88E-03 | 6.72E-03 |  6.68E-03
SF T (S T ) ppn - - 0.00398 | 0.00398 0. 00398 3.80E-03 | 3.00E-03 | 4.085-03 | 3.99E-03 |  3.97E-03
T ERF U EL LS ppn - - 0.00267 | 0.00267 0. 00267 2.92E-03 | 2.04E-03 | 3.07E-03 | 3.00E-03 |  2.98E-03

1, M3 R pE Rl @ ND & o
111#& &= & MDLiE=0.00023 ppm (ppmv) °
112# zxit & MDLE=0.00020 ppm (ppmv) °

% % MDLiE=0.188 pg-

23 % oA 11 1 HIE -

4 38.5.1 LeARI T RS FREL (3 pp) (2/2)

Fm ke E 2 = (MDL)

Friv? & MDLE=0. 00021 ppm (ppmv)

HMDL & 4™ #777 :

? Fipt MDLE=0.00020 ppm (ppmv) > % & MDLiz=0.193 pg-

? i MDLE=0. 246 pg -

= ? 5= MDLE=0. 212 pg °

= ? 4 MDL&E=0. 209 pg -

hj 13 P i RN H3e A 113# & T 35iE 1= % 114# i T35
2/4
ZF YR E ppmv 0.1 0.00019
FHPRRET A ppmv — 0. 00020
A AREE ppmv — 0.00019
BT T AR ppm 1 6. 70E-03
T 0T ARE(T =) ppm — 6. 26E-03
T4 0T ARE(S TR ppm — 4. 44E-03
F4 00T ARE(E TR ppm — 3. 25E-03

1, Mt R PR Rl @ ND &
=0. 00019 ppm (ppmv) °

c A H SRRt E 2 B (MDL)
Friv® 2L MDLE=0. 00020 ppm (ppmv) °

> HMDLE 4e™ #577 :
? £ifg MDLiE=0. 00019 ppm (ppmv) - % & MDL#E=0.176 pg -

@ 32 MDLiE=0. 235 pg °

= 7 3% MDLiE=0. 242 pg -

= 7 3 MDLE=0. 232 pg °




